Rebursimstroeer

Me/acémL: S|4z‘36%%
(234 SLr 6
S} L 364y
| 2SS Y6 §
TN VARRERN
S > 2 3 6 Y&
IS 2 36 g
PSRN VEEGN / 2\ / 2\
S RS A 5 6 Y &
| 1 | I | | l [
Genrdst : G(n) ar%?d& ()5 bt Ut
R o%ln AU oS -
—[L—<| =) maofzk &) ka (O&Ln
<V\|O§n) OI(_&(;O(L N
Quicksort : |3 2 36 V4§
IZE%SAQX
e ™~
SI13F¥236Y
|23 Y S 67
_ N
[ 27 S> 6
| 2% S¢6 7
N
I 2 S p!

R



Muracsert
O(XU ?f X 0% Y
A = Hu&e{scfk (x)
‘\{A!%C (Alfb)

Pl

Ty b b*w(ﬁ A ot (mtc}ga%w\ eﬁ s N
Ely : tduw \Métpza%wrxw.

Mugessrt = Tty = 001) + 27 + O(n)
= 2T+ 0(n)

Sheda 1y Tﬂ) = S—I_(%>+ Ola?)

R (O%“n OAUC qulS

( > (O&qn L\
T s 2@t - ot L@
< ont g_ (%> (:) Cj/\Z [%Z_

O
= TZcnt € O@)

=  Quusk h3 er dpmuinrnada
(d.us. &é’%w du Asymp- Egrdw()



~—l—‘(;/\\ = ?(%) + |

PN
\/\ / N\



Haakf-goo"liw (s 9)
T(n) = a T4 > &(n)) azl, b>|
. Ofmy e O(nP*E) g0

)

= Ty € O(>n%)

9 Jeye 6(a%)
= ) € @(noﬁb“ (09 )

<y Q(m S Q(m(%b”’ﬁﬁ £>0, o3
dc< | Ny * Vﬂ’ : (& Cq[(n
=> T (n) & @(4(/\\)

Ebs: Tin)y = 2TE ) +n
0-b-2
(g(n\ N
{ b0 = (o 2 =|
=) n(°8‘°“ = N-= <{(r\)
l\&odd&l
Tn) € @@/\ O(}VL)



Els: Tan) = 2T(5)+ nlogn
a=b=2
(N = Nlog
i\ %m) E oy loen € w(nt°5”a> 0%\
é(ﬂ)e O<n(0‘ab“+a>/ &0, M £>0
( |®%n € o(n) <gar ol E£v0 )
=) W&%w&odm\«@a kaw e (/mdus

Byt TT() = AT(L) +
O=b=2
Jey =
_ > e 0ln®)
Wy € O

Els: Tn) = TE) + b

0=% b=
Lo%ba: (oa()qﬁ < |
(ny = nt



